H & 0 &8 AF & H Al A
20099 & 20i&F LB
SA: EMINE D
mu: C AN
@Rl TNSEINLDAS (el &
SN EB . E(B) - HBEAY - BES Ol are o HIDS2
SO It 55,687,677 55,044,078 643,599
= 59,000
s 32,103,850
= 6,748,892
i 16,775,935
SR 45,749,613 40,852,818 4,896,795
s 28,958,000
& 6,425,281
= 10,366,332
SNSEMRLAS 45,246,613 40,652,818 4,593,795
s 28,958,000
& 6,425,281
= 9,863,332
HE - AT JIESAL 24,142,857 16,071,430 8,071,427
s 12,000,000
& 2,571,429
i 9,571,428
401 Al HIZ 20| 24,142,857 16,071,430 8,071,427
s 12,000,000
= 2,571,429
= 9,571,428
01 Al&H] 24,087,328 16,034,465 8,052,863
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SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
NAEE. AT AL 24,087,328,000 24,087,328
Fas 11,944,471
o= 2,571,429
s 9,571,428
03 Al&R0HH 55,529 36,965 18,564
NES. AT ALY 24,142 ,857,000%0.23% 55,529
s 55,529
SMOHEASEXIZ 14,699 14,639 60
101 @I24H] 11,339 11,339 0
10 JI2ZH22HsE 11,339 11,339 0
DNEMMNL A 2+ 11,339
2)2=s 32,000% 12200 6,400
2)Jtar3 3,200 1H+200! 640
2)J1L¢ 6,400,000+1/3 2,134
2)AZte2eag 4,912x18+15A|1 2H+ 123 885
2)Fra=aY 32,000%1H*30== 960
)R ER I 32,000+ 110! 320
201 Ler2dd| 3,360 3,300 60
01 AtSR2teid] 3,360 3,300 €0
DL 3,360
2)TMIOHZE AL =X DH Al 7,000+6% 80 3,360
ANESFX 2 77,205 69,604 7,601
201 Ler2d 77,205 69,604 7,601
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02 Z2Z2<H 77,205 69,604 7,601
Na223 2 HMAl 60,480
Q)EFAIIZE W2 17,280,000 17,280
)L2HEY EIRE M3 33K 2=%100,000%12 39,600
)HEAEIIRS 3,600,000 3,600
NAIE&BIS XY 16,725
2)EHLZIERE RAE =4I 26CH*200,000 5,200
2)EHLZIIZE M2l 6,301,000 6,301
2)EHLZIIZE QIHEH WA 26CH*74,000 1,924
)UBEEY EIRIE |X22l] 3,300,000 3,300
SNSERZAS 20,591,852 24,497,145 23,905,293
s 16,958,000
= 3,633,852
401 Al&HIZLR0HY] 20,591,852 24,497,145 23,905,293
s 16,958,000
= 3,633,852
01 Al&HI 20,544,490 24,320,764 A3,776,274
NEMSEIMNL A 20,544,490,000 20,544,490
s 16,910,638
L= 3,633,852
03 Al&=0HYI 47,362 176,381 A129,019
NEMSEIMNL A 20,591,852,000+0.23% 47,362
Fas 47,362
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SHEAS S ASEOA 420,000 0 420,000
ES 220,000
o 200,000

401 Al&ZHIZ LY 420,000 0 420,000
= 220,000
o 200,000

01 AlZHI 416,976 0 416,976
NEEXY & A4 416,976
S 216,976
i 200,000

03 AlZ=0Hdl 3,024 0 3,024
NEEXY & A4 420,000,000%0.72% 3,024
= 3,024

NP = o s 503,000 200,000 303,000

KGN AL 503,000 200,000 303,000

401 AlIZ2HIX 200 503,000 200,000 303,000

01 Al&HI 503,000 200,000 303,000
1ol 00l &= o HESA 200,000
DEAME &2H L 0I§E I MY 45,000
NHed HAE0IE HES 100,000
Nalel =S8tn AYZ SHHEFISAL 45,000
NEM SHE 2 4X 18,000
N&E 45y 35384 X 45,000
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N EMH g 2P 5,000,000%2IH 2~ 10,000
NEsiSta L 40,000,000 40,000
L2 E 455,617 474,830 219,213
= 85,000
o 370,617
FHEIA L] 380,600 303,100 77,500
& 85,000
o 295,600
==& H2AAE FH 112,000 303, 100 A191,100
401 AlZ2HIZ S0 112,000 303, 100 A191,100
01 Al&HI 112,000 303,100 A191,100
Nol==|% HoAIE HUIAY 112,000,000 112,000
==& 243 AY 268,600 0 268,600
& 85,000
o 183,600
307 @z2told 22,000 0 22,000
& 11,000
o 11,000
CRETEEREE 22,000 0 22,000
Dol===2% 243 2208 X 22,000,000 22,000
& 11,000
Ea 11,000
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401 Al&HIZLS0HYI 246,600 0 246,600
= 74,000
i 172,600

01 Al&HI 246,600 0 246,600
NS 243 AHEFT 246,600,000 246,600
o= 74,000
i 172,600

=222 K= 75,017 171,730 296,713

of==% 22 X& 75,017 53,730 21,287

101 el24d| 25,368 23,040 2,328

10 JIZtHI22XsE= 25,368 23,040 2,328
Nol=STAES 2l LM D= 25,368
2)012= 23,040,000 23,040
2)HUEE 807,000 807
2)=02E 1,037,000 1,087
2)NE8LE 300,000 300
NHEE R 184,000 184

201 Ler2g 41,690 17,690 24,000

01 AtSR2teid] 7,610 5,450 2,160
D= 5,090
=S HSEZA MY 2 3,500%2004 700
2)oh==Z& OHLNEXL M= 4,390,000 4,390
1)=&t 2,520
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401 Al&HIZLS0HYI s 542,850
& 116,325
i 116,325

01 Al&HI 770,614 4,953,674 24,183,060
NHESEMLAMSE F=& 770,614,000 770,614
2 537,964
= 116,325
= 116,325

03 Al&=0HYI 4,886 38,826 233,940
NOHESEMNLAIY = 775,500,000%0.63% 4,886
s 4,886

oL HIALS 740,000 807,000 267,000
s 370,000
i 370,000
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[ 400,884
Ea 406,000
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02 s==2gHl 9,000 16,400 AT,400
N3323 % MAl 9,000




M SAZD
HE: 0 AS O

Chel: OlEZEINY ELR-E
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2

2)2B0HE HXZAM =25 9,000,000 9,000

202 O4d| 2,729 5,600 22,871

01 =3LHAbI 2,729 5,600 A2,871
NXLHEANE 222l AT A 75,800x2F 22 *42| 1,213
N=IUE AIEE AEIEA 75,800%2F 2 x53] 1,516
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01 AtSR2teid] 6,300 0 6,300
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2)BRHUHOI | CHE RS AMRQIS} 200%10,000% 2,000
)t | RHHFY S A 7= 0/BYH 2,900,000 2,900
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2)piotg] PRFZ oAl 7,000%2E+100& 1,400

02 23224 4,000 0 4,000
NAIEEHI S X 4,000
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PA EMNED

My (YCRALSTY

o9l NYEZE RA2IMS (crol:xigl)
SA - C(BH) - NSAY - BYS O &b o4 o HIDS2
NEEegE A2 A 538,360 116,770 421,590
= 59,000
= 83,136
o 396,224
101 212b] 190,519 100,850 89,669
= 83,136
o 107,383
09 RIIHAZZ X 83,136 83,136 0
DR ELE22 0IAH|(3H) 83,136
2)J122 929,700+x3H x12& 33,470
= 33,470
2)402 11, 156,400%1/3*3H 11,157
= 11,157
)82+ 929, 700%50%*23| 930
= 930
2)H 2L IAE 40,000x3H * 128 1,440
= 1,440
)RS+ 30,000+3H x12& 1,080
= 1,080
2544 60,000*x3H * 128 2,160
= 2,160
2)AIZEeI = 77,460%3H * 12 2,789
= 2,789




PA EMNED
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ool NYE2 SAZelAr (&t &3
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2

)52 38,899+3& 128 1,401
= 1,401

2)ZUZ A 130,000x3E +12& 4,680
= 4,680

2)ItAHXI 2 70,000+3F x 12 2,520
& 2,520

A ESE=1=ENG ] 70,000+3E x 122 2,520
= 2,520

2)WEB X 120,000x3E *12& 4,320
= 4,320

2)HEF O 929,700 120%*3H 3,347
& 3,347

)28 = 9,927,000 9,927
& 9,927

2)S L2 At 929,700%1/24x3H 12& 1,395
& 1,39

10 JIZtHI22XNsEE= 107,383 17,714 89,669

NEZNESTAA(ZE) 9,961
2)l=2= 9,882,000 9,882
2NHEE R 79,000 79
NZE sHETZAMY 01X S| 97,422
2)les 91,800,000 91,800
2)Jtar3 3,200 1E+200 640
2)J1g=¢ 6,400,000%1/3 2,134
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gl N2 S22 (S d &
SA - BB (SH) - RN - e HIDS2

QA2LR2RE 4,912x18*15A1 2% 122 885
Fre=g 32,000%1& 30 960
QR EFIINSE 32,000+« 1810 320
QUMW EEZ 683,000 683

201 £et2dH| 26,020 1,720 14,300

01 A2ty 6,820 4,520 2,300
DEEEES=] 1,500
AF=FAAIHEME % S22 125,000+ 12 1,500
Ne2gd+g 2,520
-z oS AT 70,0004 & *93] 2,520
1)=& 2,800
) 2ARF A 7,000+5E ~80 2,800

02 5329 19,200 7,200 12,000
N3323 £ MAl 19,200
2)HE - & JIZ2s dMIIZ 19,200,000 19,200

202 OfH] 3,821 4,200 A379

01 =LHNHI 3,821 4,200 A379
NI HLEEsIt0l THE ol 3,821,000 3,821

401 AlEHIZ SO 318,000 0 318,000
= 59,000
o 259,000

01 AlZHI 318,000 0 318,000
DXLEZ SX2elAY 200,000,000 200,000
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ool NYE2 SAZelAr (&&=
SN HE - SR(B) - MRAY - BES 0l arey o HI D2
NAEEZ PERINSAS 118,000,000 118,000
= 59,000
= 59,000
N2 AL 2,201,080 1,500,000 701,080
T HHIALE 2,201,080 1,500,000 701,080
401 Al&BIYL RG] 2,201,080 1,500,000 701,080
01 Al&HI 2,178,000 0 2,178,000
NZE A (42) 1,091,000, 000 1,091,000
NEMLFEZ(XMREE) 1,087,000, 000& 1,087,000
03 AR 23,080 13,500 9,580
N2 HBIAIS (421) 10,080,000 10,080
NEMIFTCZ(WREE) 13,000,000& 13,000
N2 HEIALS 1,501,080 3,633,000 22,131,920
SHESZEHIAIY 1,501,080 3,633,000 22,131,920
401 Al&BIYL RG] 1,501,080 3,633,000 22,131,920
01 Al&HI 1,487,400 3,602,400 A2,115,000
NsHESZHUIAN (521) 1,487,400, 000 1,487,400
03 Al&=0HYI 13,680 30,600 216,920
NsHESZ2 YA (521) 13,680,000 13,680
H=EOtS ZHALSE 2,610,000 375,000 2,235,000
s 1,827,000
& 39,150
= 743,850
I
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= 743,850
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[ 1,827,000
< 39,150
= 743,850
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s 727,146
= 39,150
o 265,437

01 Al&HI 1,015,290 642,990
NSESSEMNL A 1,015,290,000& 1,015,290
[ 710,703
=S 39,150
o 265,437

03 AIEZ=2C0HEI 16,443 13,743
1sE0ISSENLA 16,443,000 16,443
= 16,443

402 RIZ2tXH=0l1H 1,578,267 1,578,267
o 1,099,854
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